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Cuadro 14 (continuación 4)/Table 14 (continued 4)
México: tablas abreviadas de mortalidada

Mexico: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.040 0.039  100 000  3 924  96 935 0.957 b 6 789 321 67.9
1 4 0.002 0.010  96 076   920  381 807 0.992 c 6 692 385 69.7
5 5 0.001 0.003  95 156   314  474 996 0.997 6 310 578 66.3

10 5 0.001 0.003  94 842   298  473 466 0.995 5 835 582 61.5
15 5 0.001 0.007  94 544   669  471 048 0.991 5 362 116 56.7
20 5 0.002 0.012  93 875  1 090  466 650 0.987 4 891 068 52.1
25 5 0.003 0.015  92 785  1 410  460 400 0.984 4 424 418 47.7
30 5 0.004 0.017  91 375  1 595  452 888 0.981 3 964 018 43.4
35 5 0.004 0.020  89 780  1 806  444 386 0.978 3 511 130 39.1
40 5 0.005 0.025  87 974  2 181  434 420 0.971 3 066 744 34.9
45 5 0.007 0.033  85 794  2 809  421 945 0.961 2 632 324 30.7
50 5 0.009 0.045  82 984  3 755  405 533 0.946 2 210 379 26.6
55 5 0.013 0.064  79 229  5 068  383 475 0.923 1 804 846 22.8
60 5 0.019 0.091  74 161  6 742  353 951 0.891 1 421 371 19.2
65 5 0.027 0.129  67 419  8 697  315 355 0.847 1 067 419 15.8
70 5 0.040 0.181  58 723  10 656  266 975 0.787  752 064 12.8
75 5 0.057 0.251  48 067  12 085  210 123 0.689  485 090 10.1
80 5 0.097 0.391  35 982  14 068  144 740 0.559  274 967 7.6
85 5 0.144 0.524  21 914  11 474  80 885 0.436  130 227 5.9
90 5 0.201 0.649  10 440  6 771  35 272 0.324  49 341 4.7
95 5 0.265 0.753  3 669  2 762  11 439 0.187 d  14 070 3.8

100 ω 0.345 1.000   907   907  2 630  2 630 2.9
Mujeres/Females

0 1 0.034 0.033  100 000  3 321  97 442 0.964 b 7 381 430 73.8
1 4 0.002 0.007  96 679   700  384 781 0.994 c 7 283 988 75.3
5 5 0.001 0.003  95 979   242  479 291 0.998 6 899 208 71.9

10 5 0.000 0.002  95 737   187  478 219 0.998 6 419 917 67.1
15 5 0.001 0.003  95 551   274  477 067 0.997 5 941 697 62.2
20 5 0.001 0.004  95 276   371  475 454 0.996 5 464 630 57.4
25 5 0.001 0.005  94 905   466  473 361 0.994 4 989 176 52.6
30 5 0.001 0.006  94 439   596  470 706 0.993 4 515 815 47.8
35 5 0.002 0.009  93 843   806  467 202 0.990 4 045 109 43.1
40 5 0.002 0.012  93 037  1 152  462 307 0.985 3 577 908 38.5
45 5 0.004 0.018  91 886  1 690  455 203 0.977 3 115 601 33.9
50 5 0.006 0.028  90 195  2 502  444 723 0.965 2 660 399 29.5
55 5 0.009 0.042  87 694  3 689  429 246 0.947 2 215 676 25.3
60 5 0.013 0.064  84 005  5 355  406 636 0.921 1 786 430 21.3
65 5 0.020 0.096  78 650  7 561  374 344 0.881 1 379 794 17.5
70 5 0.031 0.144  71 088  10 204  329 931 0.825 1 005 450 14.1
75 5 0.047 0.211  60 884  12 839  272 324 0.731  675 519 11.1
80 5 0.082 0.342  48 045  16 429  199 154 0.605  403 195 8.4
85 5 0.126 0.476  31 616  15 064  120 420 0.478  204 042 6.5
90 5 0.181 0.609  16 552  10 086  57 544 0.358  83 622 5.1
95 5 0.245 0.724  6 466  4 681  20 627 0.209 d  26 077 4.0

100 ω 0.327 1.000  1 785  1 785  5 450  5 450 3.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


